Rang Nr.
1. 21
2. 5
3. 22
4. 24
5. 20
6. 3
7. 19
8. 23
9. 18

10. 17
11. 16
12. 12
13.

14.

15. 15
16. 10
17. 11
18. 7
19. 14
20. 8
21. 6
22. 13
23. 4
24. 1

Paarturnier - Luzern - 11.12.2024

Ergebnis (50 % = 308.0 MP)

Paar
Bilar, Pedro — Kleinschmidt, Michael
Rubeli, Gabriela — Smith, Craig
Stalder, André — Bendel, Beatrice
Wespi, Marlise — Liithy, Ursula
Schoahs, Grazyna — Killstrom, Curt
Kopainsky, Stefan — Lanicca, Christoph
Wiist, Annamarie — Winter, Vreni
Kuhn, Monica — Tschopp, Denise
Steger, Johanna — Wohlgemuth, Gisela
Walter, Marlise — Zingg, Erika
Gisler, Meggi — Filali, Renata
Paulon, Marianne — Erni, Josy
Wehrli-Wyss, Cristine — Nadrai, Marie-Antoinette
Steiner, Peter — Hedinger, Teresa
Fischer, Verena — Fischer, Walter
Briner, Maya — Wirtz, Susanne
Zoller, Marion — van Exel, Wendela
Egli, Willi — Egli-Kessler, Ursula
Furrer, Ursula — Griidel, Heidy
Biitler, Adelbert — Biitler, Doris
Appel, Svend — Wiist, Albert
Vital, Theres — Schilt, Carla
Heuri, Silvia — Schir, Rita
Oesch, Helga — Zingg, Elisabeth

Turnierleitung: Marlise

MP
389.0
388.0
370.0
349.0
346.0
342.0
338.0
337.0
329.0
322.0
320.0
319.0
312.0
301.0
300.0
299.0
288.0
281.0
262.0
253.0
249.0
246.0
230.0
222.0

%
63.15
62.99
60.07
56.66
56.17
55.52
54.87
54.71
5341
52.27
51.95
51.79
50.65
48.86
48.70
48.54
46.75
45.62
42.53
41.07
40.42
39.94
37.34
36.04

PV
15
12
10
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Paarturnier - Luzern - 11.12.2024
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300
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a4 50
46
a4
49
a4 50
48
4 670
a3 50
43
46
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420
420
450
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450
450

Aussp. Ergebnis

¢A 100
&K 120
¢A 100
#K 150
+A 100
v7 130
&K 130
v7 130
&K 120
+A 100
#10 110
¢A 200
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&7 450
¢4 450
5 430
v8 450
49 450
&7 420
#8450
*7 460
48 460
8 420
*A 450
45 460

Aussp.  Ergebnis

A 400
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v8
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A 300
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A 50

A 300
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A 100
v10 400
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11
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18.0
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21.0
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4.0
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200
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140

100
470

50

50
170
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100

50
420
150
420

Ergebnis

660
150
600
660
600
180
150
660
600
630
600
660

Ergebnis

50

200
170
200
100
110
110

170
400
110
140
170
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12

11

18

20

15
21

12
16
18

20
15
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10

14
11

19
16
18

20
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10.0
10.0
10.0
10.0
10.0
22.0
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10.0
18.0
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0.0
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16.0
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9.0
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4.0
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9.0
14.0
9.0
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14.0
19.0
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0.0
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10.0
14.0
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140
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110

90

100
50
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12 220
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4 20
6 9.0
5 17.0
11 9.0
1 50
18 17.0
7 120
20 0.0
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10 6.0
5 200
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10 15.0
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O 4e -1
O 24 -1
O 34 =
N 4v X -4
N 3v -3
O 2¢ -1
N 2v -2
Kontrakt
W 1Y +2
S 34 -4
W 29 =
W 2¥ +2
W 3SA +1
O 1SA +2
S 2¢ -3
O 3SA +1
O 1SA +3
W 29 =
O 1SA +3
O 1SA +3
Kontrakt
W lvy -1
S 3¢ +2
W 3v -4
W lvy -1
W 1y -1
W 24 +1
S 2¢ +1
O 24 =
W lvy -1
W 2e -1
W 26 =
O 24 -1
Kontrakt
S 44 +1
S 44 +1
S 44 =
S 34 +1
S 44 +1
S 44 =
S 44 +1
S 44 -1
S 44 -1
S 44 =
S 44 =
S 44 =

Aussp.
LN
v3
LN

Aussp.
*5
%D
5
*5
410
A
AL
a2
¢A
+5
4K
¢A

Aussp.
+8
¢A
410

Ergebnis ~ OW  MP
500 11 20.0
50 6 40
300 12 17.0
200 7 13.0
50 2 40
50 13 4.0
50 8 40
140 22 10.0
1100 24 22.0
300 19 17.0
50 16 4.0
200 18 13.0
Ergebnis  OW  MP
140 12 40
400 7 18.0
110 13 1.0
170 8 8.0
630 3 21.0
150 14 6.0
300 23 16.0
630 22 21.0
180 24 12.0
110 19 1.0
180 16 12.0
180 18 12.0
Ergebnis  OW  MP
100 13 11.0
150 8 2.0
400 14 0.0
100 9 11.0
100 4 11.0
140 17 22.0
110 23 40
110 22 19.0
100 24 11.0
100 19 11.0
110 16 19.0
100 18 11.0
Ergebnis ~ OW  MP
450 7 3.0
450 14 3.0
420 9 12.0
170 1 18.0
450 10 3.0
420 5 12.0
450 17 3.0
50 23 21.0
50 22 21.0
420 24 120
420 19 12.0
420 16 12.0



25 2 KD
Nord/OW v B42
+ ADB63
» 852
2 B8 » 1096532
v KD85 v A109
+ 982 v K74
» ADB9 a3
+ A74 209vaSA
v 763 N---- -
¢ 105 g 21231
O/W 1a+2  #K10764 w2123 1
27 + AB5
Stid /- v D109
+ AKB98
a A4
» KD732 s 109
v AKS v B843
+ 1064 27 |, 5
*B10 S la ko763
« B84 ¢ vaSA
v 762 N-2--1
eDs3  ST2772
S2SA= » D852 Wi-11 -

MmP
1.0
21.0
7.0
14.0
7.0
7.0
14.0
1.0
21.0
7.0
18.0
14.0

MmP
7.0
1.0

18.0
7.0
21.0
1.0
7.0
14.0
21.0
7.0
14.0
14.0

NS
16
18

20

15
11

12
14
13

NS
19
16
18
20

12

13

14

Z n O n O = O O =Z = u O

Z oz =2 2 2 2 2 »u.=22 2 =2

Kontrakt
34 =
1SA =
29 =
2¢ -2
26 =
26 =
3¢ -2
24
1sA =
24 =
1sA -1
2¢ -2

Kontrakt

1SA =
3¢ -1
3¢ +1
1SA =
2SA +1
3¢ -1
2¢ =

2¢ +1
2SA +1
1SA =
2¢ +1
2¢ +1

Aussp.

410
v5
¢A
410
+10
410
YA
+10
v5
+10
v5
410

Aussp.

410
410
410
410
&K

410
410
410
410
410
410
410

Ergebnis

90

90

140

110
100
110
110
100
140

110
50
100

Ergebnis

90

130
90
150

90
110
150
90
110
110

50

50

ow

10

21

17
23
22
24
19

ow

10

11
15
21

17
23
22
24

MP
21.0
1.0
15.0
8.0
15.0
15.0
8.0
21.0
1.0
15.0
4.0
8.0

MP
15.0
21.0

4.0
15.0

1.0
21.0
15.0

8.0

1.0
15.0

8.0

8.0

26 « D3
Ost/ alle v B2
+ DB3
* 1087643
& A9765
v A10
+ 106542
*2
« B10842 %4 VaSA
v 63 N2----
¢ A% g 32 3-3
N/S 4% X -2 # AKD W-23- -
28 & K5
West /NS v AB854
+ B10
* 9872
« AD43 + B6
v 63 v K10972
+ AK73 + 986
* A106 * B43
& 109872 %4 ¥aSA
vD N-----
+ D542 S-—-- -
012213
O/W3SA= & KD5 W12213

MP
12.0
5.0
12.0
5.0
21.0
21.0
5.0
17.0
17.0
0.0
5.0
12.0

MmP
6.0
18.0
6.0
12.0
22.0
20.0
12.0
16.0
12.0
0.0
2.0
6.0

NS
16
18

20
15
11

12
14
13

O n O O O O =2 n m O O O

= = = = = = 0 = = = = =

Kontrakt
2v
3y
29
34
24
48 -1
2y
3v =
29
3y
34
29

+2
+2
+2

Kontrakt
1SA +1
2y -1
1SA +1
29 =
34 -3
3y -2
29 =
1SA =
29 =
2SA +1
2Y +1
1SA +1

Aussp.
A
L J:N
A
YA
YA

Aussp.

v5
9

v4
4B

Ergebnis

170
200
170
200
100
100
200
140
140
230
200
170

Ergebnis

50

150
100

120

120
110

110
90

110
150
140
120

ow

ow

10

11
15
21

17
23
22
24

MP
10.0
17.0
10.0
17.0

1.0
1.0
17.0

5.0

5.0
22.0
17.0
10.0

MP
16.0
4.0
16.0
10.0
0.0
2.0
10.0
6.0
10.0
22.0
20.0
16.0
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